alg. 2 handout 2.2 template (day 1).notebook September 25, 2015

Do Now
1. f(x):%x—& find fG : 2. f(x):§x+7,ﬁnd 3f(—6).

3. g(x)=3x-4,1fnd g(x —2).
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A linear equation 19& equation that can be written in the form:

— Slope-intapt fonns Decaure hnewr equanttons Selucd
y=mx+b Equation form Example:y=3x—1 m=3 b=-1 fo¢ y

A linear function is a function that can be written in the form:

f(x)=mx+b Function form Example: f(x)=3x-1 m=3,b=-1

A linear function

AY
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A linear equationcan also be written in the form(Ax + By = C |
where the graph of that linear equation would be a line.*® S heandoed

: : L. . Feavn
A solution of a linear equation is any ordered pair (x, y) that

makes the equation true.

A linear equation will have a independent variable and an
dependent variable.
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x-intercept/y-intercept/third point @
slope-intercept form
o
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Method #1-- pick values for x and solve for y

1. Graph the linear equatiorfx — 3y = & using the

| ¥ chart.
AX-3y= L
A .

- = -2X + L

:%' :‘:_i' =3

W= -0
X [4==x-2 |
O |4=F -2 -2
= (4@ -2 O
_3T= -—Z-? &2 -y
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Method #2 -- Finding x-1ntercepts, y-intercepts, and
a third point

X-intercept is the point at which the line
AN crosses x-axis
x-1ntercept (X, 0)

-——> [ et vy =0 and solve for x
(<, 0 4

)\

Eﬁlterceﬁ is the point at which the line
) crosseﬁ-ams)
(o. vﬁ: y-intercept (0, y)
6

_9
let x = 0 and solve fory

\
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2. Graph the linear equatior + 2y = 4
by finding the x-intercept, y-intercept, and third point

X-1nt (4, 0

Y+ 29y = Y

¥+ 2(0DH= 4
X= d

’\/‘\/ﬂ\:;z/'v’/ _
+Hnird o> | (G ’~|\ :6
% -&‘?.\\?l—l v
G +14 =y
9=~
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Method #3 -- Slope-intercept form

¥ Equahon ST Y=mMX + b
ber solved fr y .
rise
m = slope slope = ——

run
positive slope / negative slope \

b = y-intercept -- point where line crosses the y-axis
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3. Graph the linear equatioBy + £y = 9
by using slope-intercept.

B+ Ley= 9

-3y - 3% of’
Lag-_ - 2% "__q_ jL
lo o () ("212\ \
~ L 2 3
W= sz + = 022 X
1 <¢ 1 (g ls_
=/ ' T
LA R -6-'5-21-'3-'2-'11(1'5:5,'4-,5’
b — -5/L -2
-3
4
5
-6
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4. Graph the linear equation.

a) X +5=0 b) 2y -3 =0

X=-5 2wz E
A U= 7%
5 5
A\X__ 5 ¢ 4
z (o)
- —>
% G5 T w=s
<:I I I 11T 1 17 "1 1 I:> 4:I IIIIIIIIII I:>
-6 4 3 -2 -1 ( 1 2 3 4 5 o6 6 -5 4 -3 -2 -1 ( 1 2 3 4 5 o6
-1 -1
2 -2
I :
4 4
5 -5
Oy Oy

11
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Assignment:

2.2 Graphing Linear Equations
Pgs 67-70 1-9 all

x/y chart --1, 4, 7
x-int./y-int.--2, 5, 8
slope-intercept--3,6

September 25, 2015
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**Slope 1s used to describe the measurement of the steepness of a
straight line.

**Slope is the rate of change from one point to the next point on a
line.

**]t tells how quickly a line is rising or falling.

Zero slope = ~a line that is horizontal
Undefined slope a line that 1s vertical
(no slope)

13
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Example:

The Building code for using asphalt shingles
on roofs states that minimum pitch must be
a rise of 4" for every 12" of horizontal
distance (run) covered. Asphalt shinglesare
not to be use on roofs that have very little =
steepness. Builders check to see if the pitch
(slope) of the roofis or 4:12 or 4 or4to 12

before using asphalt shingles. 12 Builders need to know the pitch of

a roof to determine which type of
shingle will be appropriate for the
roof.

14
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Positive slope

Negative slope

September 25, 2015

a line that rises from left to right

a line that falls from left to right

15
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Slope

find the ordered pair

September 25, 2015
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Slope

Find the vertical distance

Find the horizontal distance

September 25, 2015

17
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Slope

September 25, 2015

y
(x29y2
i (y2 ~ yl) vertical distance (rise)
(X1=y1 --T“-d (x2 R yl )
| > X
(x,—x)
horizontal distance (run)
Slope (m) = vertical change _rise _ (y2 —yl) e, — 5 =0

horizontal change  run (x2 —xl)

18
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6. Find the slope of the line through the two points given
a) (-2,7)and(8,-6)  b) (-2,-2) and(4,2)

19
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6. Find the slope of the line through the two points given
c) (3,3)and (-4, 3) d) (2,5) and (2, -4)

20
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To find the slope of a given line you need to solve
the equation fory.

Find the slope of the equation:

—Tx+2y=38

21
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Find the slope of the equation:

Jx-12y=6 4x=-y+6
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Find the slope of the equation:

X=)

September 25, 2015

23
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5. The equationinx + 53 = 40 how you can give $.40 change if you have only

dimes and nickels. The variable x is the number of dimes, and y is the number of nickel:

Graph the equation. Explain what the x- and y- intercepts represent. Describe the

domain and the range.

24
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In 2003, federal vehicle emission standards allowed 4 hydrocarbons
released per mile driven. By 2007, the standards allowed only 2
hydrocarbons per mile. What was the rate of change from 2003 to

20077

25
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Assignment

Pgs 67-70 11-19 odds, 33-37 odds,
43-65 odds

September 25, 2015
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